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4112%%%032 0% li=tas 201 654
4110%*%*063 =0 TRt 203 660
4110%%%020 0 TaEF 203 663
4110%%*001 RO~ TaET 205 666
4111%%%006 EZ O TRt 206 667
4111%%%102 HO0ME li=tas 209 669
4110%#%038 FH0FE TaTT 212 661
4112%%%042 RO i=ta 212 668
4110%%*001 TEOH i=ta 213 658
4110%%*078 MEO0ZE TaHT 214 662
4111%%%027 PROZS TaHT 216 655
3110%%%059 HOE iEta 216 659
4110%%%140 Fox1 TaHT 217 670
4111%%%013 G5 HOE= TaHT 220 665
7113%%%040 #ROFE (=L 303 434
7113%%%005 BOE iEta 314 435
7113#%%006 STOBE (=L 316 436
T113%%%042 210% (=L 317 433
7111%%%201 PROAR TaET 401 431
7111#%%014 = OfF TaET 402 432

JOOOOorn PakkOOOnang
8111%%%202 (EHOR) (=L 407 428
T111%%%023 08 (=i 407 430
8110%#*005 IKOFE li=tas 411 424
7112%%%196 i (=i 412 429
7112%%%037 RO Tait 415 427
4112%%*%028 HOfE (i=La 419 423
4112%%%]125 0= (i=La 419 425
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4111%%%011 MO HEH 102 363
4110%#%048 HOE HEHT 109 360
4112%%%(034 BROtE HEH 111 359
4108**#*101 TROBY HEH 111 364
4110%%*010 {fiOzH HEH 114 358
4110%%%020 O HEHF 115 365
4112%%%021 EROFE HEH 117 357
4110%#%011 BROTA HEH 118 361
4112%%%026 BEROR HEHF 201 351
4111%%%019 =0 HERT 204 356
4112%%%009 =0 HERT 205 346
4110%%%008 ROE HERT 208 343
4110%#%023 550 HERT 209 348
4110%%%047 TFOZE HERT 209 352
4110%%*%005 SO HERT 210 344
4110%#*010 0= HERT 211 355
4110%%%016 20T HERT 213 353
4112%%%005 5ROE HERT 214 349
4112%%%011 O HERT 217 345
4112%%%006 N0 ZERT 218 347
4112%%%011 O ZERT 218 354
4110%%*008 B0E ZERT 301 869
4109%**003 SO HERT 302 863
4111%%%020 =HOT HER 302 871
4112%%%002 =HOZE ZERT 306 865
4112%%%008 ROfT HERT 306 872
4112%%*%016 ZZ08 HERT 307 864
4112%%*%011 (0= ZEHT 308 868
4110%%%125 BHOR ZEHT 309 857
4111%%*%005 0% ZEHT 309 860
4110%**051 POtz HERT 310 867
4111%%*%013 5ROME HERT 311 861
4112%%*%030 ROt ZEHT 312 858
4110%%*%047 (0= ZEHT 313 866
4110%*%%238 S0F7 HERT 314 862
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4111%%%084 O FERT 314 870
4110%**159 ZI0E HEHT 318 859
4110%%*008 BRORE HEHT 404 879
T112%%%045 SOFF FERT 405 875
T112%%%015 = 0%E FERT 405 880
7112%%%303 £1(0)5i HERT 408 876
7113%%%202 ROAR FERT 413 874
T113%%%022 pROA0 HEHT 414 877
7113%%%065 FFOEs HEHT 414 878
7113%%%005 #H0 ZERT 415 873
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4113%%%(25 FFOF] T 101 966
4113%%%012 SLOFi T 101 975
4113%%%(050 FOE T 102 954
4113%%%116 Z202% T 102 959
4113%#%05] Ot T 102 965
4113%%%046 RO T 103 967
4113%#%001 RO T 103 976
4113%%%(023 =0 T 104 958
4113%%%046 BROFL T 106 955
4113%%%017 =% Eas 106 957
4113%%%(15 01 EEas 106 972
4113%%%037 50 et 106 709
4113%%%004 HEOIE Eas 107 963
4113%%%037 FORE Eas 107 979
4113%%%]36 5RO it 107 980
4113%*%002 SHOA it 108 970
4113%%%(012 PROEE Eas 109 962
4113%*%001 RO ST 109 969
4113%%%104 Z10z= ST 110 977
4113%%%038 0¥ ST 111 978
4113%%%(022 FH0zE i 113 956
4113%%%103 ROfS i 113 973
4113%%%(014 #ORH T 114 961
4113%%%(050 eE0c T 114 971
4113%5%%022 PeR O T 115 964
4113%%%139 PROZ= T 115 968
4111%%%138 5RO i 116 960
4111%%*%009 HEOFF T 116 974
4113%*%040 SFOME T 201 944
4113%%*%016 FKOfk T 201 952
4113%%%050 FOL» T 202 942
4113%%%027 2085 T 202 948
4113%%%009 (B0 T 203 949
4113%%%(25 EHOF] it 208 950
4113%%%018 HHOEE it 211 953
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4113%%%325 BI04 T 212 946
4113%%%030 MO T 213 937
4113%%%028 O T 214 938
4113%%%128 PeROFar it 214 939
4113%%%129 =0 T 214 940
4113%%%028 HBOFF T 214 943
4113%%%040 22047 T 215 945
4113%%%012 oS T 215 951
4112%%%232 SHOE T 216 947
4113%*%(25 FROLTF EhEt 217 941
4113%*%013 =0 et 301 921
4113%%%022 220 EhEt 301 929
4113%*%040 0% EhEt 302 918
4113%%%104 2O et 303 925
4113%%%008 FEOPT et 304 912
4113%%%019 RO et 304 920
4113%%%017 FOf it 305 922
4113%*%001 BEROME ST 306 933
4113%%%(032 fHOE et 306 936
4113%%%104 £20Z% et 307 914
4113%%%(15 F0r5 et 307 916
4113%%%030 fHOME ST 308 915
4113%%%(010 HEORH T 308 926
4113%%%(030 TROZE T 308 931
4113%%%146 BRO=C T 311 911
4113%%%(024 PRO%E T 311 927
4113%%*%051 7O T 312 913
4113%%%103 JEOHA T 312 923
4113%%*%116 RO T 313 919
4113%%%009 O it 313 930
4113%**%010 POz T 315 917
4113%%%036 TO=E it 315 932
4110%*%*050 PROZE T 316 924
4113%%%(23 PROEL T 317 928
4113%%*%001 F0% ST 318 910
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4113%%*(39 HOTS T 318 934
4113%%%048 BROAT T 318 935
4112%%%003 Fal OFt it 401 882
4112%%%101 MRO%% it 401 884
4112%%%037 BROZ T 401 906
4111%%*003 PO it 402 885
4112%%%044 BR0%E it 402 888
4112%%*%039 SROFE it 402 899
4112%%%010 SROFE T 402 903
4110%%*009 PO Eas 403 889
4110%%%063 FOE EEas 403 896
4110%**016 BEO it 403 909
4112%**%003 JROE. it 404 883
4112%%%007 20 Eas 404 894
4112%%%221 0¥z et 405 886
4122%*%*%009 O it 406 901
4112%%%129 MO et 406 902
4112%%%010 HEO%H et 408 898
4112%%*001 E(0E i 408 900
4112%%%027 O et 408 907
4112%%%028 RORE i 411 892
4112%%%044 0% et 411 908
4109%**060 SFORE i 412 890
4111%%%011 BROZE it 412 891
4112%%%13] BRO%L it 412 895
4112%%*%013 PROLS et 414 887
4108%**045 O it 418 904
4112%%*%027 PROA it 418 905
4111%%%046 F08E et 419 893
4110%%*116 Fr0% it 419 897
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4111%%%011 B0 ST 206 821
4113%%%005 HEOZE SpkET 301 795
4113%%%017 RO ST 301 808
4113%%%011 L1055 ST 301 820
5112%%%003 BFOZE: SpkET 304 816
4113%%%017 4CO0E ST 306 793
4113%#%001 $20%2 SpkET 306 801
4113%%%038 FROTE: ST 307 792
4113%%%012 TFOE ST 307 807
4113%%%43) EROME ShkEET 310 805
4113%%%018 HrOFE ST 311 812
4113%*%042 F04 ShkEET 311 817
4113%%%020 Z208fE apkcF 312 796
4113%%%(13 FOorT apkcF 312 800
4113%**%015 F0 ShkEET 312 818
4113%%%003 sRO#T ShkEET 312 819
4113%%%(010 ZI0XL apkcF 313 802
4113%%%030 =HORE ShkET 313 803
4113%**(51 0% apkcEF 315 794
4113%*%045 45018 ShkET 315 810
4113%%%058 G105 apkcEF 317 804
4113%**%015 5RO ShkET 317 809
4113%%*%009 HRO SpkET 317 814
4113%%%145 BEROLT SpkET 318 790
4113%%%102 FEOE SpkET 318 806
4113%%%118 B O SpkET 318 813
4113%*%103 =HORE APk 319 791
4113%%%062 THOHE SpkET 320 815
4113%%*%018 Hl08% SpkET 321 799
4113%%*%016 =HO ST 322 811
4113%%%(15 Z0FE APk 401 773
4113%%%001 BEROF APk 401 774
4113%%%052 TO%F SpkET 402 769
4113%%%022 %01 SpkET 403 767
4113%%*006 BEOFE SpkET 403 768
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4113%%*%019 HEOZE ST 403 772
4113%%*%009 5R0%] ST 404 783
4113%%%045 5[5 ShkcET 404 786
4111%%%048 HOT SpkET 405 758
4111%%%023 FEO0E ST 405 759
4113%%%036 #2058 ST 407 751
4113%%%006 205 SpkET 407 765
4113%%%005 FfOZ ST 407 766
4113%5%%207 210w ST 409 752
4113%%%329 5[0 SpkET 409 778
4113%%%043 FROEH APk 410 776
4113%%%(050 0= SpkET 411 777
4113%%%017 ZZOR SpkET 411 780
4113%%*%031 B0 APk 412 762
4113%**%035 RO APk 412 770
4113%%%002 FROLFF APk 413 779
4113%%%(21 BXO% apkcF 415 775
4113%%%016 (0= apkcEF 415 781
4113%%%005 EY | apkcEF 416 789
4113%%%019 =HORE apkcEF 418 763
4113%%%(022 TEO% apkcEF 418 764
4113%%*006 &R0ty apkcEF 418 784
4113%%%057 BEO apkcEF 420 782
4113%%%049 PROE apkcEF 420 785
4113%%%(032 027 apkcEF 421 750
4113%%%024 [rOFE ShkET 422 760
4113%%%044 PROFF ST 422 761
4113%%%(055 FOE apkcET 422 771
4113%%%039 HOZE SpkET 422 787
4113%%%017 RHO%E SpkET 501 734
4113%%%(053 PRO%E APk 502 708
4113%%*%021 =OZE SpkET 502 743
4113%**%044 HOZE SpkET 504 725

I



113 T2 A i S B B RS N

2% %4 il e =
4113%%%(053 BHO=: ST 504 740
4111%%%030 =0 SpkET 505 707
4113%%%(15 BROEE ST 506 719
4113%%%003 FHOTE ST 507 727
4113%%%04] 0% SpkET 507 741
4113%5%%042 F0 ST 507 745
4113%%%020 =HOWE SpkET 508 729
4113%%%016 ROE APk 508 737
4113%%%314 WROEE ST 509 705
4113%#%%328 5ROLT ShkEET 509 720
4113%%%039 = 0% ShkEET 510 749
4112%**%015 Ot ShkEET 511 717
4111%%%025 BROZ7 apkcF 512 731
4111%%*%016 02 ShkEET 512 747
4113%%%(014 O apkcF 513 713
4113%%%(029 BEROMS apkcF 513 714
4113%%*%021 TROZE ShkEET 513 716
4113%%%104 FOH ShkET 513 728
4113%%%030 FRO¥H ST 514 723
4113%%%012 TROE ShkET 514 736
4113%%%030 ROfE apkcEF 515 704
4113%%%020 SLORf: ShkET 515 712
4113%%%(035 FEOZ: SpkET 516 711
4113%%*%026 MRO&T APk 516 730
4113%%%034 PRORE APk 516 738
4113%%*%119 10 SpkET 517 718
4113%**%]15 PO ST 517 739
4113%%%008 =10 SpkET 517 746
4113%%%035 FOZE SpkET 518 732
4113%%%038 HOFH SpkET 518 733
4113%*%004 HOER SpkET 518 742
4113%%*006 %0 ST 519 706
4113%%*%051 40k SpkET 519 721
4113%**%064 F0ox ST 520 748
4113%%%060 BRORL ST 521 744
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4113%%%041 Ao ST 522 726
4113%#%001 =OFE SpET 602 675
4113%%%003 =HORL ST 602 678
4113%%%057 EBOE ST 602 697
4113%%%018 Z0% SpkET 604 1177
4113%%%(023 TEOZE ST 604 687
4111%%%022 SEOUE: SpkET 605 1172
4111%%%041 MOFE ST 605 703
4113%%%017 0% ST 606 686
4113%%%(13 BeRO%5 apkcF 606 701
4113%%%(33 B0 apkcF 608 1165
4113%*%004 HO%E ShkEET 608 1168
4113%%%(010 RO apkcF 608 694
4113%%%(023 5RO%E apkcF 608 696
4113%%%311 ZI0%E apkcF 609 1164
4113%%%313 =0k ShkEET 609 1179
4113%*%310 5RO ShkEET 609 684
4113%%%32] HEOHE apkcEF 609 685
4113%%%(35 FH00 apkcEF 610 677
4113%%%(33 P04 apkcEF 612 1163
4113%%%(11 FlOf apkcEF 612 1167
4113%*%004 HOE ShkET 613 1171
4113%%%]113 RO SR 613 1176
4113%%%110 HO%E SpkET 613 699
4113%%%107 BERO SpkET 613 700
4113%%*%009 ROk SpkET 615 1181
4113%%*%018 HRORE SpkET 615 681
4113%%%032 BORE SpkET 615 702
4113%*%%005 B SpkET 616 1178
4113%%%(043 GHOA APk 616 674
4113%%%125 PRO4T APk 617 1162
4113%%%(13 087 APk 617 1169
4113%%*%]11 EZ 0 SpkET 618 1173
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4113%%%104 TROE ST 618 679
4113%%%(054 TEOZE SpET 619 680
4113%%*%019 HLOz% SpET 619 722
4113%%*%009 HEOrE ST 620 1161
4113%%%(024 EEOH SpkET 620 1166
4113%**%014 EROLS ST 621 676
4113%%%036 MROZE SpkET 621 698
4113%#%001 =OEE ST 622 1174
4113%%%004 FRO4E ST 622 682
4113%%%054 5ROBA ShkEET 622 683
4113%%%048 WRO4z apkcF 703 1154
4113%%%(15 =0ff apkcF 704 1121
4113%%%016 L0 apkcF 706 1120
4113%%%039 BEOE ShkEET 707 1147
4113%%%002 HrOFE ShkEET 707 1153
4113%%%005 PalOpay ShkEET 708 1124
4113%%%208 ZI0%p) apkcF 708 1127
4113%%%024 RO apkcEF 708 1150
4113%*%433 BEROHE ShkET 709 1117
4113%*%43() 2202 ShkET 709 1118
4113*%%019 HOH ShkET 710 1119
4113%%%047 BRO%R ShkET 710 1122
4112%%%020 RO SpkET 711 1148
4113%%%]135 BROZE SpkET 713 1123
4113%%%108 =105} SpkET 713 1125
4113%%%]12] BROZL SpkET 713 1126
T112%%%017 AFOfR SpkET 716 1149
7113%%%001 HOTT SpkET 716 1152
7113%%%021 0% SpkET 718 1156
4110%%*029 L0k SpkET 720 1151
4112%%%041 HHORE APk 721 1155
4111%%%040 RO APk 802 1077
4112%%%403 BHROZE APk 803 1102
4111%%%131 BEROHIT T 803 1104
4112%%%007 BROF APk 803 1105
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4111%%%008 FROHFT ST 804 1099
4111%%*%049 =OME SpkET 804 1100
4112%%*%009 OB ST 807 1109
4111%%%015 BOAE: ST 808 1101
4111%%%008 FEOLT SpkET 808 1108
4112%%%040 EgcH ST 809 1096
4111%**029 PROFE T 809 1098
4112%%%056 SRORE APk 809 1113
4110%#*007 2oty ST 810 1112
4110%%%033 FEOL apkcF 811 1076
5113%%%016 ROE ShkEET 812 1103
4112%%%039 MROE apkcF 813 1115
4112%%%(023 08 apkcF 815 1114
4110%**%014 JEONE ShkEET 816 1095
4111%%*%051 2O ShkEET 817 1110
4111%%*%017 RO ShkEET 817 1111
4110%*%*055 BSOS ShkEET 819 1106
4112%%%019 FORs ShkET 819 1116
4112%%%048 R0 ST 820 1107
4112%%%049 NG apkcEF 821 1097
4110%%*%047 =OE ShkET 901 1046
4110%%*007 PRO/C» apkcEF 901 1072
4112%%*%008 FOE APk 902 1053
4112%%%030 =0 aid SpkET 903 1029
4112%%%036 TF04L SpkET 903 1030
4112%%%005 HHOFE SpkET 903 1031
4110%*%*066 A0 SpkET 904 1062
4112%%*%027 FOEF SpkET 904 1065
4110%%%020 PROFE APk 904 1070
4110%#%002 ZROHE SpkET 905 1064
4109%**005 EROME SpkET 905 1071
4112%%*%020 =0 ST 908 1055
4110%%*%017 HEOFE SpkET 908 1067
4110%**%113 ZI0 ST 908 1074
4111%%*%025 B OBR SpkET 910 1060
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4112%%%008 fH0%E ST 911 1047
4110%%*%029 20w SpkET 911 1056
4112%%*%109 =OEE ST 911 1068
4110%%%024 FROHF ST 912 1032
4112%%%008 =HOR SpkET 912 1049
4111%%%056 $HOME ST 912 1054
4111%%%020 BEHOE SpkET 913 1052
4111%%%030 =OF ST 913 1057
4110%*%*030 075 ST 913 1063
4111%%*%006 5ROZE ShkEET 913 1066
4112%%%(035 BEO8% apkcF 914 1050
4112%%%215 B0 ShkEET 914 1069
4112%%%012 E4(0):1 apkcF 915 1051
4112%%*%007 HE00ME ShkEET 916 1061
4111%%*%101 FHO%s ShkEET 917 1048
4111%%*%046 $HOFH ShkEET 917 1075
4112%%*%007 [0 ST 918 1045
4111%%%044 Foz ShkET 918 1058
4111%%%001 L0 ShkET 920 1073
4110%%*067 RO apkcEF 921 1059
4112%%%033 JEOHE ShkET 1001 995
4112%%*%006 ZI0rE ShkET 1001 996
4111%%%023 JEO3, SpkET 1002 999
4112%%%201 (0 SpkET 1002 1012
4111%%%034 FHOZE SpkET 1002 1017
4111%%%010 ZEOH SpkET 1003 1002
4111%%*%030 AFORK SpkET 1003 1003
4111%%%104 OB SpkET 1003 1011
4112%%*%001 MOH: SpkET 1004 1000
4112%%%028 Eg) APk 1004 1007
4110%**%031 {007 SpkET 1006 1028
4112%%%017 B0t ST 1007 1006
4111%%%042 BEROZE SpkET 1007 1024
4112%%%042 MO SpkET 1009 1021
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4112%%%039 HO0H apkcET 1010 997
4112%%*%034 HEOFS apkET 1010 998
4112%%%009 EOE SPkET 1010 1004
4111%%%005 FEOFE kT 1011 1014
4111%%%026 2204 apkcET 1011 1015
4111%%%407 HOE SpkET 1011 1016
4111%%*%026 FEOE ST 1012 1009
4111%%*%016 FO:H ST 1012 1018
4110%**006 PROZE AT 1014 1020
4112%%%(030 #roz= SpkET 1014 1025
4110%*%026 408 pkET 1015 1023
4111%%%021 #ROfE SpkET 1015 1026
4110%%%228 P04 kAT 1015 1027
4112%%%037 5RO, SpkET 1016 1001
4112%%%009 fTORK SpkET 1016 1005
4112%**%024 B0 SpkET 1016 1010
4111%%%054 2208z SpkET 1018 1022
4112%%*%046 HORA SpkET 1019 1013
4112%*%023 SO apkET 1019 1019
4112%%%029 &0 SpkET 1022 1008
4111%%%]35 FORE kET 1101 1185
4112%%%048 5RO ST 1102 1131
4112%%%029 05, SpkET 1103 1136
4112%%%006 PR O%E pkET 1103 1143
4110%**025 B0 SpkET 1104 1142
4111%%%101 07 T 1105 1081
4112%%%(55 B0 kT 1106 1082
4110%**060 $HOL kET 1106 1188
4110%**043 JROMEE SpkET 1107 1137
4112%%%039 ZEOfE kET 1107 1139
4112%%%]55 =ORH pkET 1107 1080
A111%%%]12 0% Pk 1109 1138
4112%%%]17 EXOE SRkET 1109 1132
4110%%*%057 A0 apkcET 1110 1135
4110%**015 =0l apkET 1110 1140
4112%%%(024 S0R kT 1112 1078
4112%%%038 BT KT 1112 1184
4111%%%03] FHOH kT 1113 1187
4112%%*%036 fRO% ST 1114 1189
4111%%*%006 M OBE Pk 1115 1144
4111%%%002 STORE SpkET 1115 1145
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4112%%%042 B0 AT 1116 1190
4112%%*%020 FLOZE apkET 1117 1186
4110%%%047 fR]OFE ST 1119 1128
4112%%%(032 BEROEL SpkET 1120 1083
4112%**%014 BOfF apkET 1120 1129
4112%%%101 WROEE apkET 1121 1079
4111%%*%083 B0 ST 1122 1141
4110%**%431 ZI0FE AT 1201 1087
4110%**053 BROOE apkET 1201 1090
4112%%%028 EOfE SpkET 1203 1034
4110%**035 =0 SpkET 1204 1036
4112%%%026 5O SpkET 1204 1037
4111%%%046 5R0$Y SpkET 1204 1092
4111%%%(022 ROty ST 1205 1040
4112%*%015 =0/ SpkET 1206 1038
4112%%%022 BEROZZ SpkET 1207 1035
4112%%%302 NROFF SpkET 1209 1041
4112%%%3)8 FOE kT 1209 1042
4112%%%032 SOZH SpkET 1209 1086
4112%%%(]3 00 SpkET 1210 1093
4112%%%024 5RO ) FKET 1211 1085
4112%%*%04] B0 SpkET 1211 1088
4112%**%05] FEOFE SpkET 1211 1133
4111%%%018 F0E FKET 1212 1033
4112%%*%018 HEOZ FKET 1212 1039
4111%%%029 ZI0E SpkET 1212 1091
7112%%%310 FEOE FKET 1216 1094
7111%%%014 B0 kT 1218 1044
7110%**%001 FHOE SpkET 1218 1084
7112%%%204 H0sE SpkET 1219 994
7112%%%036 FOoi7 FKET 1221 1089
7110%**001 o100 Pk 1222 1043
7113%%*006 FO ST 1301 982
7113%%*006 FHOLF apkcET 1303 992
4112%%%016 BROTT apkcET 1305 993
7113%%%030 RO SpkET 1308 984
7113%%*002 PAROEEY SpkET 1309 986
7113%%%007 Fo& AT 1312 987
7113%%*%080 $HOHS Pk 1313 985
4110%**059 HOE SRkET 1313 989
7113%%*009 =0E apkcET 1314 991
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T111#¥5002 S0 ST 1320 983
7113%%£030 B0 ST 1321 988
7112#%%031 5ROk ST 1322 990
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4113%%%018 BERORl: BT 103 188
4113%%%024 EEOYT T 104 185
4113%%%003 0 BT 104 186
4113%#%007 HHOE BT 104 189
4110%*%%023 FrOE BT 105 191
4113%%%010 HORF BT 107 187
4113%%%(034 FEOFH BT 108 184
3111%%%005 F20H BT 111 190
4113%%%024 Fou EEHT 201 833
4113%%%021 2504 BT 204 825
4113%%%206 PROHE EEHT 204 834
4113%%%(29 SFO4M BT 205 827
4113%%%04] BROME BT 205 836
4113%*%105 PRORE A 206 822
4113%%%127 PROLT EEHT 206 824
4113%%%101 E {05530 BT 206 826
4113%%%037 FOH BT 207 841
4113%%%(045 = OB R 208 837
4113%%%]115 5RO BT 209 183
4113%%%107 ZZOHT TEHT 210 830
4113%%%109 SO BT 213 829
4113%*%%005 0% TERT 213 835
4113%*%%106 ZIOonE BERT 213 838
4113%%%(014 FEORR R 214 831
4113%%%018 BRO TEHT 214 832
4113%%%(024 R0 BT 216 823
4113%%*039 FOrk AR 216 840
4113%%%(028 FOFF BT 217 839
4113%%*%019 ZFOLF T 218 828
4113%%%052 BROE T 218 842
4113%%%032 o0& BT 304 182
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T113%%%043 2ok BERT 308 176
7113##*027 | KO0OOOda JintaOOOikam T 308 177
T113%%%102 POOOOawee ChaOO0Orit FEEHET 308 178
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